Efficiency vs dr

x 0.
<
©0.09
£'0.08
c
Q
50.07
=
%0.06

Ratio
P
N
T

o i 4

-| —=— DQM_v0001_R000000001__Global__CMSSW_ckfnocut3_RECO

_| —— DQM_V0001_R000000001__Global__CMSSW_mknocut3_RECO

1078 1072

[ Efficiency vs dr (track,jet) |

) 1
TP min AR

§0.02_
00.018F
E E
@.016_—
®.014F
> C
9D.012F
o E
o .
£ 0.0
(] F
0.008
0.006F
0.004F
0.002F
1.0

Ratio

[y
TTTT] T

0.95

107 1072

Efficiency vs pu

-1

1
AR(TP, jét)

50.05
o
9.045
20.04
(]
®.035
=
20.03
0.025
0.02
0.015
0.01
0.005

3
b

......................

...................

.........................................

Ratio




	Contents
	Page 1


